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1. W72 +192 F sE R S 2, |4, SvWem ®a ug # oRwE
A SIS W 3 R 2 999 x abe = def132 T fa=m $ifs, =@l a, b, ¢,
d,e 3@ FAFE | a, b, c d, e AL & AN
(a) 6 EHET:THT%?_ _
by 2 (a) 6,6,8,6,87
(b) 8,6,8,6,7,8
cd 1
(¢) 6,8,8,7,8,6
@ 0 8,6,8,86 7
2 n 1 98
%S 10
2533 x 48
(a) 65
®) 55
(© 50
d) 45

3.  TEAT 479865AB H T4 (A, B / £ 7 (7 ﬂ.mﬁﬁaﬁm.ﬁﬁﬁ‘fﬂﬁﬂ
e 9 g fawrsw @ ofl 3w f@mn wsm R ' ﬁﬁmmw&qaﬁ
de 1 Ffm s fm R e Thl 3T gEe aﬁﬁﬁ:@ﬁmwaﬁaﬁt

fereft 5@ &1 w1 (FgE) =
(a) B m,’.
b) 6 (a) 7a9
e 9 (b) 1299
* (¢) 1499
@ 1 @ 21a§
DFGT-T-HTM ' (2-A)
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What is the remainder when (1727 + 19%9) s |4.

divided by 18 ?
{a) 6
by 2
el 1
(dy 0

(a} 65
(b) 5'5
(e} 50O
(d) 45

by 9 and it is given that the

l:_lumher is odd ?
tal B

(b} 6

e} 9

dy 11

(3-A)

Consider the multiplication 999 x abe = def132
in decimal notation, where a, b, ¢, d, ¢ and f
are digits. What are the values of a, b, ¢, d, e
and f respectively ?

(al 6,6,8,6,87

(b) 8,6,8,6,7,8

(e} 6,887,886

ed from a point at
. respectively and
ods of 60 kmhr,
tively in the same
ot at another point

iring their journey, then

square of a number in the previous year and
cube of a number in the next year ?

(a) 7 years

(b) 12 years
(e} 14 years
(d) - 21 years
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frffiga 4 & = w9 gt 7 2 2
(a) 2 H =l 2 3= gEmal & 3 2 g
fayrsg 2
(b) aﬁﬂfﬁﬂﬁm,nmﬁmmp
% forn, 7fg p TREA m x n B fawrE
HA1 2, 99 p I1 91 m ! AT n = fawifE
AT |
(¢) IR THFEEH 6n-1F &I H 8 (n TH
Ul T ), 99 48 UH AW HE
2
() dF T e H HA U €
ogem @ famd @ Feeeadi ey
T | 2 HAE B | -
x>0%%q,x+x2;?mwmﬁmﬁ?
(a) 1
(by 2
{c) 2%
(@) Fuffe 7@ fE s wwm
1+px ||1—qx_ '
qﬁm m—li,'ﬂ'ﬂ'x%?@mﬁ
FTE ?
(a) :I:l 2P_q,2p:tq
pV 4q 12.
1
b o =
(b) ipqdp q,p#q
() i%dp—q,piq
(d) i%ﬂ'Ep—q,Zpiq
(4-A)
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10. U BEEE § 9 w90 G § 200 B gfg

61 € & | afz oEmam § sl f den
20% <t gfg #1 Il & AR TEEE TEF WU
WA R, 99 FW wEA § wa g9wd § e
wfeeTd AgeE B ?

(a) 30%
(b) 40%
() 44%

(d) 48%

T 3R BT g & 3t v @ fawrem o gedi

2 | Toemem oM % foe 2Ai & wfre w1 wm

Al 8 | 791 A 8 km/hr # Seil 77 B
i 10 ke/hr 8 | feEne gg= % forg 2o v
H o fiqe =u ol @ | e 3 B % gers @
forrmer feramn g R 2

(a) Hkm
(b) 55km
(¢)  6km
(d) 65km

Tl 1 fEtaiEd § § a3, afe

32,3 X J0FEA B ?
(a}) 0,2
() 0,-2
(@ 1,-1
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7. Which of the following statements is not[10- In a hostel the rent per room is increased by

e 20%, If number of rooms in the hostel is also
increased by 20% and the hostel is always full,
then what is the percentage ;:hange in the
total collection at the cash counter ?

{a) The difference of two prime numbers,
both greater than 2, is divisible by 2.

(b) For two different integers m, n and a
prime number p, if p divides the product (a) 30%
m ¥ n, then p divides either m or n. (b)

(e} If a number is of the form 6n-1

(n being a natural number), then it is a

40%

(e) 44%

48%
(d)

8. For = > 0, peed is 8 km/hr
x+2

X+ e is 10 km/hr, Hema

@ 1 a to reach the

(b) 2 chool from the locality
1
(':} 2"2"

9. If ——

non-zero solutions of

owing pair of numbers is the
e equation 3¥*%+3%=10 ?

1 (2p—q '
{a) -,
P q ¥

Pa fa) 0,2

(e) :I:% P-q.p#g b 0,-2
) 1,-1

d) +3 Ip-q,2p=q @ 1.2

DFGT-T-HTM (5-A)
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13. 7% e gam @ 6 log,, 2 = 0-3019
log;, 3= 04778 | (108)1° R E T e o
(a} 19
(h) 20
(c) 21
(d) 22
14. 9 3Ty SEarel @1 ATEe 100 & | AR T
4 weh forelt gufl @E | 36 sifus B, @@ W
Heaa I 8 v aEn B
(a) 17 16.
(b) 29
(c) 43
(d) I | 3 T8
15. % a, b 3 ¢ wTES i HEA Wm_ﬁﬁ?“'
1 =16 % a3 4, b 3R c B A=A
1 23 ~
a-+ -
b+ L
1
C+—
2
R
(a) 1 18.
b 2
(c) 1-33
(d) 233
DFGT-T-HTM (6-A)
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e W (03) gy & forn Prefeftae @ e
irfo

1,00,000 SHEEa g et et § f9 weR

% GHERYS (1, 1T ST 1) Suerey & | 39 I d &
GUETL-YET i qea J1el @il o1 wftea 59 TR R -

THTER- 97 FIgH! BT ST

1 10%

1I 30%

111 5%

g1 13 10 8%

gl 11 3T 111 4%
MY 13T I 2%

asft =t (1, 1 i 1) 1%

e U GETEN-UE YeA Jiel S0l sl TEE #9410
22

ta) 20,000
(b) 25,000
(e} 30,000
d) 35,000

FHAHH & GAER-GE] B Tgd "ol S sl
e =R 7

(a) 12,000
(b} 13,000
() 14,000
(d) 15,000

9 S EE w9 R W 5 i SR §
w18 ft aurERas 777 Ted & 7

(a) 62,000

(b) 64,000

{c) 66,000

{d) 68,000
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13. It is

(108)10?
fa) 19
(h) 20
(e} 21

(d)

14. The sum

[} e ®
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given that log;, 2 = 0-301 and |Consider the following for the next three (03)
logm 3 = (-477. How many digits are there in | items :

15. If a, b and c axe

a,bande?

by 2

(c) 133

(d) 233

DFGT-T-HTM
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In a certain town of population size 1,00,000
three types of newspapers (I, II and III) are
available. The percentages of the people in the town
who read these papers are as follows :

Neiwspaper Eoaperiis ” :' i
I 10%

30%

18. What is the number of people who do not read

any of these three newspapers ?
(a) 62,000
(b) 64,000
(e) 66,000
(d} 68,000

(7-A)
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19. 773 % wHR § geRTE 1 3 TR ?
(a)
(b}
(e)
id)

=1 e

21, x =

22, o HEA x, v 30 23 THFH B
%aﬁT}qzﬁﬁTéﬂ%%l"“Tﬁm
%1 A FR ?
(a) 45
iby 55
(e} 65
dy 75

DFGT-T-HTM

23. UF fawH UH AT UOA F W@ AR FAHER
TEFL T T B | Uk g g R fame
3 fome @ 2 | uft W famg P A TmE 1 EUE W
T G (t + 30) TR W T W IEEA
e # | HE (4 + x) HEve R, e g p %
S Featar 3za1 B | x fohmes aoan 8 2

(a) 75 T®HUES

(b) 90 HHUE

(¢) 105 THUE

(d) 28

26. Tl o aEafE Hemsii o @ b & fAu,
Jla -2 +Jtb—a)? Fm
(a)

(by =t oft s A

(¢) YT Had AR a#b

(d) ©FTHSE Az AT Fa Ffg a>b

(B-A)
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19. What is the unit place digit in the expansion |23. A plane is going in circles around an airport.
of 7739 The plane takes 3 minutes to complete one
round. The angle of elevation of the plane from
() 1 ; s
a point P on the ground at time t seconds is
b 3 equal to that at time (t + 30) seconds. At time
) 6% (t + x) seconds, the plane flies vertically above
the point P. What is x equal to ?
dy 9 (a) 75 seconds
{b) 90 seconds
20. BSuppose n is a positive integer such (e} 1100 seconds
(n? + 48) is a perfect square. What ig t}
number of such n ?
X _ sider [ g statements 1n respect
fa) One JE =t O AN oth > 1) which are
(b)  Two ' :
f ay rime numbers.
(¢} Three % ¥ th - ay be composite
(d) Four be prime and the
nts are correct ?
21. For x =
X+ 21"_
x— 2v"_
(a) 1
e average weight
by 2 weight of the girls is
AT d that of the boys is 32 kg, then what
mber of girls in the class ?
d) 2
22. x, y and z are three numbe [d-}. 28
30% of z and y is 40% of z. If
hat is the value of p ?
WHAS RGO YRHR D 26. For any two real numbers a and b,
(a) 45 Ja-b2+ Jib-a)? is
(b) 55 (a) always zero
(© 65 Sl ¥ Rgen g
(e}  positive onlyifa=b
(dy 75 (d) positive ifand only ifa > b
DFGT-T-HTM (89—-A}
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a? 42
27. dEa:b=c:d=1:6%, T a2
TR ?
1
} =
‘@ 500
1
e
(b) =
1
(c) e
1
d =
(d) .
28. 053+0-53 oS ay= 8 ?
(a) 1068
(b) 1068
{e) 10868
(d) 1088
29, a3 > Niadt Bt B, o=
(a) NS G790 HEAT &

(b) N,2¥ =& U gIqui HEAT &l
(@ N,3¥ =¢t Ush-gq0l HeT &
(d) N,3 % FAE U gAY eI E

30, Fr=ferfaa 4 @ =t v smforE gen 2 2

(a) /59049 34,
231
(c)  0-45454545......
(d) 0-12112211122211112222.......
DFGT-T-HTM (10-A)

=h1 HIT

31,

o 3rg % o el ¥ | srerstem feemi W qu
w4 & U v yEs f dEvaw e v

g oo, Fefefiaa ameft § gafe o # .

WA | WFTIT | W7 IO

Tfit (kmph) 9 8 7-5

w7 (fB=ei ) | 50 80 100
79 Yas 61 G Tfa =g 7

(@) 817 kmph

(b) 800 kmph

(¢} 7-80 kmph

(d) 777 kmph

aff 2 - D . _°_ 3} 7 Pfifes
b+ec c+a a+bh

H & #hor wya TE 2 0
(a) Seds 9 19 —1% JOa 2 |

(b) nﬁmﬁa%w1%m%|

) uﬁaﬁﬁaém—ﬁm%r

(@ s fm Faw %--%aaam% r

g 352 =t 8 o fawrfem fean smar & | Swea
E iR

(a) 1

b 3

® 7

(d 9

U FUST eI H T % H W HE X B
T TR F R o XA gsd § 2

fa) 3

b) 4

(c) B

d) 6
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27. If a:b=c:d=1:86, then what is the value of | 31. A race has three parts. The speed and time
a? 4+ c? 9 required to complete the individual parts for a
h2 4+ g2 runner is displayed on the following chart :

(@) 'L " PartI | Part I | Part 11
600 Speed (kmph) 9 8 75
. 1 Time (minutes) 50 80 100
(b) a0
q What is the average speed of this runner 7
© o2 (a) 817 kmph
(b) 800 kmph
1 N\
)y =
8 \
28. Whatis 05 *ﬁ -, then which one of
+b
(a) 8 correct 7
(b) to1or -1
(c) —orl
(d)
or -1

29. The inequality 2 ot
(a)

(b) by 8. What is the
{c)
(d)

30. Which one of the following

number ?
34. A prime number contains the digit X at unit's
A 59049
@ place. How many such digits of X are
231 possible ?
M ==
593 - (a) 3
(e)  0-45454545...... by 4
(d)y ©0-121122111222111123222....... @ 5
d) 6
DFGT-T-HTM (11-A)
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38.
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#f2 vk T W 6% B F TAE 6% WH W
= AU, 91 fEEhal #1762 wr 'R OE |
&G 1 59 ol R ?

(a) 18
(by 36
(c) T42
(d) 50

U W H Hes 12 geul swwEr 18 wfkensi s
o 14 &= oH |

16 #fgemd g9
Hehd & ?

26 T
by 24fe7
(c) 9fam
d 8fe

(al

Tqfe 3% = 4¥ = 12° 8, 1l 2z TohH® U & 7

(a} xy

by =x+y¥

xy
X+ ¥

ic)

(d) 4x+3y

A (4a + Th) (de — 7d) = (4a — TH) (de +Td) 2,
a1 Frafefiea 4 @ $90 vs odl 8 2

=T e

ta)

o|m

{(b)

-

(el

[ =
Nl oo

=&

(d)

=P

39. TR fhag > + ax + ) A (x - 1)

41.

42,

(12—-A)

YA (x + 1) § fawfoe =6 W Ives guE
TR 2 | a3 b WA A = E 2

(a) 430

(b} 03 3

(¢) 33Wo0

(d) 03 =g o quis

et 1 F1 g FH d G F 6 €2 o 8,
Hafer A9 I 1 HOA0 G H [ HaT B |
afe & ST e Fm W, @ 39w W
e # feraan g @ 2

(a) 3%

(b) 32 15 fme
(c) | 8% 30 e
(d) 8¢ 45 fime

2+ J2+ J2 4 o o HE R 2

o) 1
(b) 2
(e} 3
(d) 4
s qiien §, 520 Fhenell ch § $a gu ik
429 TV | el BT | A% 17% A1 fawl § S
gu, a 2 fawal d fren uftwa whenef o=
O ?

(a) 77

(b) 58

(e) 48

(d) 23
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35. If an article is sold at a gain of 6% instead of a |39, Given that the polynomial (x? + ax + b) leaves
loss of 6%, the seller gets ¥ 6 more. What is the same remainder when divided by (x — 1) or
the cost price of the article ? {x+1). What are the wvalues of a and b
ively ?
(@) <18 TerpeEtively
: {a) 4dand(
(by 36
by Oand3
{c) T 42
e} S3and0
(d) <50 .
(d)  0and any integer
36. A field can be reaped by 12 men or 18 women -
g . o complete a piece of
in 14 days. In how ma ;
T S te ‘]]EEBJI[EWﬂl'k]II_
ork together, then
(a) 26¢ d to complete the
(b} 24d
(e 9d
(d) 8da
87. If 3% =4¥=
(a) =xy : .
b)) x+y 24+ 1}' s
iel
X+
(d)  4x+3
38, If (4a + Th) (4c — 7d) =(4a — Tb) (4e+
which one of the following is correct ?
5 4 tion, 52% candidates failed in
(a) % = At 260 failed in Mathematics. If
17% failed in both the subjects, then what
b a_c percent passed in both the subjects ?
v ® (a) 77
ey 2 2 (b) 58
b ¢
( 48
(d) 4a _c i
b d (dy 23
DFGT-T-HTM (13-A)
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43. us =Afw fmdt are & A g g9, = 3,90,000
i gty v T 59 3md oef, ute =6
3 5w Sfeat | sfer s 91 | 3w FEw fem
o & et wmofy v 38 = faedt 2,
Wl ¢ H IFh! o T gAnh faer aifae
AR faaft gofs of <1 s 2, oo 38 =
Fgdl g ufy et aifew | uet @ fem
fopamr = 2
(@) ¥ 14,000
(b} T 12,000 R’
(e} ¥ 10,000
(d) T 9,000

44. 40% AMH =hafly =9 A [T W @ T
gfst FH-Hn e o a6l 0 T @ s
7 et 2
fa) 3
{b) 4
(c) 5 48,
(d 6

45. U% =% I T 17,200 1 990 Fi A= ww b
fafora =+, 39 5%, 6% 39T 9% TTfiis GrETOT
e g B e ) S ant o E
o, 39 gt o=t 4 vwsEnm =E ar
83 | 9% =aTe W FEw FimE gy e
%? 49,
(a) ¥ 3,200
(b) ¥ 4,000
ic) 4,800
(d) ¥ 5,000

DFGT-T-HTM (14-A)
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g _ .8
46. (x—¥y)" +{y—2)" +{z —x) %H%W%'?

FX—-—yMy—zl{z—x)

(a) 1
iby 0O
1
( =
c) 3
d) 3

Efﬁax=b}':c13:ﬂ1b2=3c%_a:|:!'_+l
foreeh avat 2 0

@ 1
M -
¥

¢l —

¥
(di = A
¥

afg p i g, FHF %2 ~ 15x +r=0F qA &
SR p-q=1%, d = qF =18 ?

{a) &5
tb) 56
(e} .60
(dr B4

e IR 2—7x+12>ﬂ%m,mﬁ
H -1 U 8l 8 7
fa) B=x<d

(b) “HaF —oo<x<3
(c) Had d<x<om

d) —oecx<3HAYGT 4 cx <=
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43. A man who recently died left a sum of

T 3,90,000 to be divided among his wife, five
sons and four daughters. He directed that
each son should receive 3 times as much as
each daughter and that each
daughter should receive twice as much as

receives

their mother receives. What was the wife's

share ?
{a) ¥ 14,000
(b) ¥ 12,000

(¢) ¥ 10,000

(d) < 9,000

44. What is the least number of complete years
in which a sum of money put out at 40%
annual compound interest will be more than
trebled ?

(a) 3
ib) 4
e 5
id) 6

45. A person divided a sum of ¥ 17,200 into three
parts and invested at 5%, 6% and 9% per
annum simple interest. At the end of two
years, he got the same interest on each part of
money. What is the money invested at 9% ?

(a) ¥ 3,200
ib) ¥ 4,000
[ch T 4,800
id) ¥ 5,000
DFGT-T-HTM

Join Telegram

47,

49,

(15-A)
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x-yP +(y-2°2 +z-x?
Jx—yly—-z)iz—x)

What is

equal
to ?
fa) 1

(b} 0
1

(el E

d 3

If 2 = b¥ = ¢? and b2 =\.ac, then what is

11
=5 = ]
z + = equal to 7
Gy X
¥
Y A
S
Led) E
2
iy 2
¥

If p and q are the roots of the eguation
x*—15x + r= 0 and p — g = 1, then what is the
value of r 7

(a) 55
(b)" 56
© 60
@ 64

For the inequation x — 7x + 12 > 0, which one
of the following is correct 7

fa) d<x<4

(b} —=<x<3only
{c) 4<x<owonly

dl}] —=mex<3ordcx<e
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50. =W 520 —2% w1 UGS & 54. UF HAGSHS ABCDEF W fa=m #ifsw | B 3t
a5 C W o fem & | A6, B W e 2t &
S =1 IF F07 300 B, 3T ¢ W fEuE T H
(b 7 9 =1 IFET H 45° B | B IR ¢ W
@ 17 aﬁiﬁ}:’ﬂmﬁm@m-w%?
(d) 39w | & #E T @ 1:43

51. Elﬁt.anx=1,ﬂ-:x~:90°'a‘, AT 2 sin x co .*..'-'-"-’l

by 1:3

53. WA #fifsm 0 < 6 < 90° B, ® 30 knvhr 1 T B et gEd
4 sin? 0 + 1 ForEd a=T Sgen wvEr 2 2 ﬂeﬁﬁwgamﬁ|aﬁnﬁiﬁ%a‘\aﬁa§
ferertt @ 2
(a) 2
(a) T5km
(b) 4sin8 ¢ i
(e)  dcostd ‘ (© 125km
(d) 4tané (d 15km
DFGT-T-HTM (16-A)
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50. The expression 52° — 23 has a factor
(a) 3
by 7
(e 17
(d) None of the above

51, If tanx =1, 0 <= x < 90° then what is the

value of 2 sin x cos x 7

@ 3
by 1
(e) "—Ew
@ 3
52. What is the
sin 46° cos
(a) sin 2°
(b) 0
e 1
d) 2
53. OSuppose 0 < 6 < 90°,
4sin® 0 + 1 is greater than
{a) 2
(b}  4sin®
(e} deos®
(d) 4tand
DFGT-T-HTM

54. Consider a regular hexagon ABCDEF. Two
towers are situated at B and C. The angle of
elevation from A to the top of the tower at B is
30%, and the angle of elevation to the top of the
tower at C is 45°. What is the ratio of the

height of towers at B and C ?
(a) 1:43
(by 1:3

nich is on his right side. At
e, he makes a 150° turn to the right
vels for 15 minutes at the speed of
. that he takes a left turn of 60°
and travels for 20 minutes at the speed of
30 km/hr in order to meet the second street.
What is the distance between the two streets ?

{a) 7-6km
(b) 105 km
e} 125 km
(d) 15km

(17-A)
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57. W2 3tan0=cot 0T 0<p< 2, A o |61, Fofifen wfipe swEmar s w fEw
* 2 Hifaa . :
R 7 » ”
n "
{B} E 0- 1{? 8
—20 12
B & s
4 20 — 30 10
T
@ : 30 — 40 p
d = 40 - 50 9
2
58. 5]'}12 257 4+ ai 2 CECEIE _._hr-_.,_,: : #;r
a) 0
) 1
ey 2
@ 4 £
i .;l"]:
LAN &
59. sin®6 + cos% 0 + 8 sin THTHE F b
& 3 L er. | Frenfiad w for i -
[a} ﬂ, Foa o 3 i
by 1
) 2
d 4 _
60. aTEEH By 5 % fom, : == g -
o - ! 9 9 |
1. seca=1/4 . i \ 3
9.  tanp=20 ! N »
3. cosecy=1/2 -
3 _ wiea i wifeae @ & ¢ :
5 cosd=2 #
35w # 9 fora fomao wwg 787 8 2 (a) 6 g
(a) UH o ® 7
' L
U ﬁ c) &
() dH
(d) =X - @ 9
DFGT-T-HTM {18—=A)
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57. If 3tan B =cot® where 0<0< %, then what
is the value of 6 7
(a)

(b}

{c)

Rl wla &|la @®|a

d)

=
3
o
7]
3
<

59. What is the

and &

1 sec o = 1f4
2. tanp=20

3. m&ee'rnlfﬂ
4 cosd=2

How many of the ‘above statements are
not possible ?

{a) One
{b)  Two
(e} Three
(d) Four

DFGT-T-HTM (19-A)

61.

Consider the following grouped frequency

distribution ;
x f
0-10 8
10 - 20 12
20 - 30 10
30 — 40 P
40 - 50 9

What is the median for the distribution ?

(a)

)

(e
(d)

6

T
8
9
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50 SHHTT 9 iRl 1 3ftEeE x B | 9 o
=W v quiteRi =1 ot snfire s fomn s, | S
FHtEa (wrea) &= B 7

(a) x+1

(h) x+2
e) =x+4

(d)  x+(x/54)

21 3Rl arelt T gemst w fGEw Hifw S

I SHI W T "ed 24w, S f
=

Wl § | 38 uSE i € Fw H1 HEE
aftea # 2 7

(a) 33
(b) 44
{c) &b
(d) 66

ze % smd feun ® FEfafea 8 s
afeuferm g &2

1. Y9 AE (a1 SRuW)

2. quRE (TTE-STEHE)

3. fasfm s (foeemm)

= fam o gz w1 g R e I g

(a) had 1HT 2

(b) Haw 23S

(c) “had 1313

(d) 1,233

frafafias 4 8 #9d vs fafg 3 wwha fo
M sifes, Wl wiwe 77 2 € 2

(a) WeaE SAfHET HEATERR R

(b) IYeHE SATKT HIATR grl

(¢) TOHTERRI o WIEAH | Wil 7§ gfeEi g
(d) SERIfSTE wiY-g=Y &

67.

(20-A)

s SAfE 1 WIS = T 6,000 2 | fafim wal

T =g W wed FregEw #
=2 &1 77 e (7 )
1. @ 2,000
2. I 660
3. 3499 3 1,200
4. foem 480
5. fafag 1,660

g I Ailwsl H 15 cm FAE F TH
gftmaar =9 smE & FEfe fF s, q
foren ofw fafew & m&fuas @ww sma & Fi
el it FAravgat s = a2

(&) A:25 e 3R 5em
) 12cm 3T 415 em
(e} 12cm 3 35 cm

(d) 415cm 3N 6cm

af n Hewi # B m sl %) WS o # 3 I
Y&l 1 AT m B, dl Wl YE 1 T
22

@ 2m-—
(by 2Zm + =

fe) m-—- —
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63. The average of 50 consecutive natural |67. The monthly expenditure of a person is
numbers is x, What will be the new average 2 6,000, The distribution of expenditure on
when the next four natural numbers are also various items is as follows :

Hiehuded 3 Item of expenditure Amount (in 7)
fa) x+1
b) x+2 1. Food 2,000
ie) x+4 2. Clothing 660
(d  x+(x/54) 3.  Fuel and rent 1,200
4. Education 480

64.
65.
2 and 3 only
(¢) land 3 only
(d) 1,2and3
66. The data collected from which one of the
following methods is not a primary data ?
(a) By direct personal interviews
(b) By indirect personal interviews
(c) By schedules sent through enumerators
id} From published thesis
DFGT-T-HTM

{21-A)

el

(b)

| 8

id)

=
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69. faffigs § @ w9 = 3w & &9 ¥
gHfed & 2
(a) wTfET=R ~ e feafa
(b) HIER - et feafa
() TUINRETEN —  HAEE
(d) ®EeTh ~ e
70. Trefafies gm o oman W F aREEar S
At IHH aHERar "gdd o Heiud 8 |
frafefaa 4 @ w99 s gW T w9 "
mufew 72 8 2
(a) WEYS hl AUR T@ — X-o98
(b) WEYW % 9T Hl  — @ AR
wifeat
() WEYS % Wil % US - @EERal |57 %
1 i (FEm
T )
(d) FEYS FEERA -~ & I FA
TR
71, TF AEA H, S ZHeh! wrerd &l a9 T e |
gfe wmEm i T S SR wEI 30% S
10% =@ @ =i, a1 =5 9iEM fean ==
T ? '
40
{a] ?%
(b)  20%
(e) 25%
d) 27%
DFGT-T-HTM

(22—-A)

T2,

3.

4.

5.

oy fomft e i ued= o = s
S, A IEH aEhd o fhad gfowm
St 2
(a) 75%
(b) 50%

1
i1

500%

g2 10 em FSE A UF g9 A G AHERR
Sila#| o1 wrEEal 12 em 3R 16 cm &, @
e aneit = i 6l gl Fea & 2

{a) 1em YAl T em

(b) 2cm FYCT 14 em

(¢) 3em #AYET 21 em

(d) 4 cm YT 28 em

‘a’ YT ITct U 9f o of Seg@ Fiel @ g
A, A g =1 9 % siel 3@ uER @i
e E 5 3 s @ et #r died §, el 9
BF S B | 59 o1 BFell w1 e SEhe
b & 2

(a) a(n+ =)

1
b d{p- =
(by a“(n 2}
{c) azl{ﬂ—llI

(d)
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69. Which one of the following pairs is correctly
matched ?
(a) Median — Graphical location
(b}  Mean — Graphical location
(c)  Geometric mean — Ogive
(d) Mode —  Ogive
70. The following pairs relate to frequeng
distribution of a discrete variable
frequency polygo
pairs is not co
(a)
(b}
(e)
(d)
71. In a rectangle, “leng
breadth. If the length and the br
rectangle are increased by 3
respectively, then its perimeter
) —%
(a 3
h)  20%
{c} 25%
dy 27%
DFGT-T-HTM

72. What is the percentage decrease in the area of
a triangle if its each side is halved ?

(a) 75%
(b) BO%
c) 25%
{d) No change

The volume of a spherical balloon is increased
by TO0%. What is the percentage increase in
its surface area ?

(a) 300%

R
by a%(x 2'.'
ic) 82{%—1}
(d) a2(-2-+13

{23-A)
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76. ‘o’ W 91 UH @ H HHE H IE TR FR
T & f6 U oW ST &A1 8 | RS 6
U Y H oears et @ 2
(a) a(J2-1)
(b) a(/8-1)
o J2+2

a

@ 3

77. @R wATE O dead uh awev B 6
gl il & | ¥9 @® it diF A 9ol
HEa % fihad a=g 9949 g T6d & 2
(@) Fae W '
(b) <hHael Bl
(c) had dF
(d) aa: S

78. U @ fag Bl g wEe @ g0 w@ie o #
O g9 H 9T 44 em # 3N T I w&ﬁi
B¢ ga I IRy FH A 2 | | H g6l &
ot 1 Ehel fohaqT & ?
(a) 154 cm®
(b) 308 cm?
(c) 462 cm?
(d) 616 cm?

79. U 6 ft x 12 ft SATHN F AR AT Fred = o
6 39 =12 e e 1 < dmn ugl @ | et e
w1 &1 i 9gl w1 SE%e a2 7
(a) 9@ Fe
(b) 151 e
(¢) 17a F2
(d) 18 Fe

DFGT-T-HTM (24

80. U W s F1 ufea seehl weE S e

81.

~-A)

uh fAYF E w1

F kTR | AR I g W w0 & w™
AU 4: 52, @ kW FR 2

a) 2
(b) 3
e} 4

(dy 5

UH 12 m LA algehs feu o E, e A
U I UF 90 6 &9 H \IS) A1 # o7 g5
TH o b ®9 H, g D TREAg A g A
STaT 8 | g9 H Bem o R 2

12

(a) m

6

(b}
! ;=1

3
@+ &

(e)

6

d
% n+2+2

4% e 4 8 | Al
fgs = ofom et we@ = g f kg
2, @l k1 5 R 2

fa) 1+

(b) 1-

G [

(eh 2+

AR

d) 2
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The corners of a square of side ‘a’ are cut away |80, The perimeter of a right-angled triangle is
so as to form a regular octagon. What is the k times the shortest side. If the ratio of the
side of the octagon ? other side to hypotenuse is 4 : 5, then what is
the value of k ?

{a) 2
(b}

(a) a(d2-1)

b al(J3-1)

3
(e) a (¢ 4
id) &

Three consecutive integers form ©which | the other into a
What is the radius

(a) 3qUAre . The angles of a triangle are in the ratio
4. If the perimeter of the triangle is
5 largest side, then what is the value

A rectangular red carpet of si
a dark red border 6 inches wide. What is the
area of the dark red border ? () 1- T

(a) 9 square feet
(b} 15 square feet . () 2+ 7
fe)d 17 square feet

id) 18 square feet

DFGT-T-HTM (25-A)
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83. UH HAH YT N F 10em B A I@E

8Ehe 24 cm? B | AR SEht B g w s
3t w2t wen A g w fem s &, A
ol fepern &1 sman & 7

{al 245 cm

(b) /255 cm
(c) /265 cm
(d) 275 em
8 em Trswn 916t v 39 H, AB 3R AC @ Sfand

TH YT & 6 AB = AC = 12 cm 2 | SffET BC
& e fradl 2 2

(a) 246 em
(b) 36 em
() 8+7 em

(d) 647 em

. Frafafes F ® faEr S .

1. U wefgang dFce g A gl @ |

2. wig ot wsh wuia SqdS U EE w
2 |

a7 # & FrH-a78 o TE B 2
(a) hael 1

(b) HEHA 2

(¢) 13 28

(d) Fd 1,782

(26—A)

86. TH HGl UH Fealw fAN % wEl @Y w@ B

At sEH q AN H 25 m | R | IR 7w
AR T 08 m A9 F AR wF A R, @
AT aell SER F 144 m 3R Al g a
# | ot it T et 2 0

(a} 62m
(b) 65m
(c) 68 m

(d) 75m

87. Gl HUH g7 Ush-gHt I 39 YR ufdeeg wd @

fis 398 ¥ 5o 39 @ 99 F 3 ¥ A
TR & ol-afe gl gl s sdfee Sfer @
wreard 10 V3 em ®, @1 g 1 = fohaa 2 2

{a) | 10em
(b)  15em
(e) - 20em

(d) 30cm

fr=fefas Hua w fomm Fifaw

1 e fagsl A e @i s
bl a1 g1 o1 HEE A R

2 freft gu & @y @ug (i) § w59 aen
I = HI0 BT R

I H H FAAE HYT TE AR 2

(a) Had 1

(b) e -2

(e) 123 28H

(d Td@1LAH2
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83. The hypotenuse of a right-angled triangle is

DFGT-T-HTM

10 ¢cm and its area is 24 em? If the shorter
side is halved and the longer side is doubled,
the new hypotenuse becomes

(a) 245 em
(b} 255 cm
(¢) /265 em
(d) 275 cm

chords such

(a) 2v6 em
(b) 36 ¢cm
(e} 347 em

(d) 647 em

Consider the followin;

1. An isosceles trapezium is always eye

2.  Any cyclic parallelogram is a rectangle.

Which of the above statements
ta)  1only
(b)  2only

(c) Both1and2

(d) Neither 1 nor 2

(27-A)

868. A ladder is resting against a vertical wall and

its bottom is 2-5 m away from the wall. If it
slips 0-8 m down the wall, then its bottom will
move away from the wall by 1-4 m, What is

the length of the ladder ?
(a) 62m
(b} 65m
{c) 68m

(dy 75m

circle is =

Which of the above statements is/are correct ?
fal 1 only

(b) 2 only

(e} Both1and2

(d) Neither 1 nor 2

Join Telegram : https://t.me/defenceekaksha
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go. frdft fiym ABc & wgyd #H, fafefes

srafset w faar Hifs .
1. AC-AB < BC
2. BC-AC<AB

3. AB-BC <AC

Iudeh #f § HH-9 HEE 2
(a) eel 1 A2

(b) ae 2 31 3

(¢) et 1 N3

@ 1,233

90. Fr=ferfias w9l w =R Hifsw .

1. Tt frgs i aftar 3 FF arfersme

() 3 srmeer & = el 2 |

2. ferdft fspraBC #, 9fe BC &K g D

2 1 AB + BC + CA > 2AD Blal 2 |
i § & SR w v R
(a) eherel 1
(b) A 2
(¢) 13 23

(d) TdT1,FHE2

DFGT-T-HTM

AT 2 AT H4 (03) Ty & fore Feaferfaa w
faam &ifse ;

uF w4 fordl M F Fela R | 99 % s T

de-geia dwd 8 St 30 gt Feaiar el w e
H@ R | SoH H IR F da-gHE wE 2 | Ih
Farsal auet 8 3 U% W =AW Sed % oW %
e R |

. TS % AMEEA % NE 6 AEad § = I

22

(a) 6.3:1
b)) 7T:2
(¢ 343:1
(d) H8:1

. VH % ST ® a4 & HE @ 991 9

27
(al 74:3

(b)) ‘21416

{c) 14:11
(d)y 45:32

. FrfefEg sue w fGEn fife .

1. T W U %, W % d T
#a5d & 6 TR |

2. A I Y HA%A, dTH & dH YR
STBe & T 2 |

I # | FE-AVE HYA 98 28 ?

(a) wad 1

(b) A 2

(¢) 13 2z

(d) T 1,982
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89. Consider the following inequalities in respect
of any triangle ABC :

1. AC-AB<BC

2. BC-AC<AB

3. AB-BC<AC
Which of the above are correct ?
(a) 1and 2 only

(b) 2and3

(e) 1land3

{d) 1,2 and

2, In any triangle AR

(a) 1only
(h) 2 only
(¢) Both1land2

(d) Neither 1 nor 2

DFGT-T-HTM

Consider the following for the next three (03)
items :

A cube is inscribed in a sphere. A right
circular cylinder is within the cube touching all the
vertical faces. A right circular cone is inside the
cylinder. Their heights are same and the diameter of
the cone is equal to that of the cylinder.

91. What is the ratio of the volume of the sphere

. area of the cube is equal to
the curved surface area of the cylinder.

Which of the above statements is/are correct ?
(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

(29-A)
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HATH 31T =T 719 (03) TN o ferg Faferias w
ﬁwdﬁﬁm,:

ABCD Th wgys & f5EH AB = 9 em,
BC = 40 em, CD = 28 em, DA = 15 cm 3R &M ABC
TF GEHF B |

94, Bgw ADC 1 &FFA A & 7
(a) 126 em?
(b) 124 cm®
(¢) 122 cm?
(d) 120 em?
95. Fa4d ABCD 1 S=%e a1 & ?
(a) 300 em?
(b) 306 em®
(¢) 312 cm?
@ 316 cm?
96. TS ABC % "l 3 Biys ADC % Sty &

= fopa 3faT 2 7

{a)] 4ecm
(b) Sem
le) Bem
(d) T7em

ST ST =T A (02) Ty o fern Feferiee w
forem ifao

wh wHeTE S ABC, 20 V3/em H Br=n a1@
T g9 % A 7 |

97. Torqw <t yon i @ETs =R 2
{a) 30cm
(b} 40cm
{(¢) BHO0em
(d) 60cm
DFGT-T-HTM {30 -

98. figs ABC *1 %, i A Hd gl W R |
d Terer = B 7

(al 15 em

(b} 20cm

e} 20 V3 em

(d) 3043 cm

ST ST =Tt 21 (02) Wi & fero FreferEa w
for=m #ifau .

U SR GATO YHeH 1 o, 918
3ift S & AEA 22 om A 3N I el i
FETS 14 em 7

,m.mmmmmm

feret & 2
(a) 285 cm?
(b) . 216 cm®
144 em?

AT g o &R Faiia J@ e
Hehal

(e}
(d)

100, af2  SEwilUE GHeL ghersh @1 e
(faeamt) & =4 (@) &1 9rrEe S, HI IHH

wreE VR, d (S — 3V) s seR 8 7
(a) 572 cm®
(b) 728 em?

1144 em?

I § ® wIE A6l

tel

(d}

A)
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Consider the following for the next three (03)
items :

ABCD is a quadrilateral with AB=9 cm,
BC = 40 cm, CD = 28 cm, DA = 15 ¢m and angle
ABC is a right-angle,

94. What is the area of triangle ADC ?

(a) 126 cm?
(b) 124 cm?
(¢} 122 em?
(d) 120 em?
95. What is the area of quadrilateral ABCD ?
(a) 300 em?
(b) 306 cm?
(e} 312 cm?
(d) 316 cm®
96. What is the difference between perimeter of
triangle ABC and perimeter of triangle ADC ?
fa) 4ecm
(b} 5ecm
{e}) 6Gcem
(dl Tem

Consider the following for the next two (02)
items :

An equilateral triangle ABC ig inseribed in a
circle of radius 2043 em.

97. What is the length of the side of the triangle ?
fal  30cm
(b} 40 em
(c) S50em
id} 60em
DFGT-T-HTM

Join Telegram

The centroid of the triangle ABC is at a
distance d from the vertex A, What iz d equal
to ?

(a)
(b}

15 cm

20 em

(c) 2043 cm

(d) 3043 cm

Consider the following for the next two (02)
items :

The sum of length, breadth and height of a
cuboid is 22 em and the length of its diagonal is
14 cm. :

99, What is the surface area of the cuboid ?

(a) 288 cm?®
(b) 216 cm?
(e) 144 em?
(d} Cannot be determined due to
insufficient data
100. If'S is the sum of the cubes of the dimensions

of the euboid and V is its volume, then what is
(5 - 3V) equal to 7

(a) 572 cm?

(b) 728 ¢m?

(c) 1144 cm?

id) None of the above

* {3=A)
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L.

SPACE FOR ROUGH WORK

Eh el : Sl

o ke

DFGT-T-HTM ; ] o (32-A)

Join Telegram : https://t.me/defenceekaksha



L] [ ] ®

LET’S LEARN TOGETHER

SPACE FOR ROUGH WORK

DFGT-T-HTM . (33-A)
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wHel ®IH & fae g
SPACE FOR ROUGH WORK

DFGT-T-HTM (34-A)
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SPAGE FOR ROUGH WORK

(35-A)
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFGT-T-HTM Test Booklet Series

TEST BOOKLET
ELEMENTARY MATHEMATICS

Time Allowed : Two Hours Maximum Marks : 100

1.

4.

9.
10.

INSTRUCTIONS

IMMEDIATELY.AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET,

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter vour Roll Number on ihe
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet, L
This Test Booklet contains 100 items |questions). Bach item is printed both in Hindi and English.
Each item comprises four resporises (answers). You will seleet the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proeceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you sheuld hand over to the Invigilator enly the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS,

(i) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the eandidate, one-third (0-33) of the marks assigned to that question will be
deducted as penalty,

(ii}  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be eorrect and there will be same penalty as above to that question.

{iii) If a question is left blank, ie., no answer is given by the candidate, there will be no penalty for that
gquestion.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T & ;e o fRedl BUat 39 gfeas % HE 9B W oeT @ |

DFGT-T-HTM (36-A)
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